[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

o

h

L L L L AR RN LA RARL RARRN LARLE RRRRN LRRR

0.8
1072

: -
1 +
0 -
e'aend Filr ey eesr ------------
: 1
10

Efficiend

L1111
coooog
coc

[eeecl=
[ololele!

cccco
[
mmm%'g
(DD DD
223209
17 o
(%1%

~ 0.2
20.18
o
>0.16
>
2
90.14
o
£0.12
()
0.1~
0.08
0.06
0.04F
0.02

...........

...........

...........

.................................

................

...............

..............................

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.2
>
8.0.18F
E L
50.16
20.14F
P E
20.12F
0.1F
0.08F
0.06F
0.04F

0.02F

e

effic

.......................................

.......................................

....................................

o

Sim. PV z (cm)




	Contents
	Page 1


